
1

A - Side wall - 2 pcs

60min

Elan Romdeler 390x400x800
(5356005)

C

B

Thank you!

A

V1 - Screw - 4x40mm -18 pcs

V2 - Screw - 3x16mm - 4 pcs

V3 - Foot - 4 pcs

B- End wall - 2 pcs

C - Floor - 1 pc

A - Side wall - 1 pc
B- End wall - 1 pc

V1 - Screw - 4x40mm - 3 pcsA 2B

V1

A - Side wall - 1 pc
V1 - Screw - 4x40mm - 3 pcsA

V1

3 4B- End wall - 1 pc
V1 - Screw - 4x40mm - 6 pcs

V1

A2A1

V2 - Screw - 3x16mm - 4 pcs
V3 - Foot - 4 pcs

V2

V3

C - Floor - 1 pc

C
V1 - Screw - 4x40mm - 6 pcs

B2B1
C - Floor - 1 pc

C

V1 - Screw - 4x40mm - 6 pcs

V1

V1

B


	Sheets and Views
	Elan Romdeler 390x400x800 (5356005) instrukcija-1page


